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. 2878-09. 3{6/ oc7 VR-3372
(REVISED COURSE)

(3 Hours) [Total Marks : 100

8. : (1) Question No. 1 is compulsory.
. (2) Attempt any four remaining six questions.
(3) Non-programable calculator is allowed.

ﬂ ' 1 1 1
E Gi 2 i = hat L = —
; (a) 1ven L|: p= j‘ 372 then prove that ': m ] J; S

L (b) Prove that— 5

I3(x) = [1—}%J Jy(x) + “i-Jo(i)

(c) Find the image of | z | = 1 under the transformatoin w = 2z + 72, 5
2 1 3
(dy IfA= |3 1 2| verifythatA (adjA)=|A|L 5
1 2 3
. (a) Prove that— 6
® sin2t + sin3t
j sin +lsm di = i’f
0 te 4 -
(b) Prove that— 6

J.x Jos3 (xm) dx = - % x /2 .;_1,3 (xm) + ¢.

0 1+ 2i
(c) IfN= [_1 + 2 ' 0 :I then prove that (I — N) (I + N)~! is a unitary matrix. 8
B. (a) Find the analytic function f(z) whose imaginary part is e * (y cosy — X siny). 6

(b) Find L erf /1 |.
(c) Prove that —
41,700 =T, ) =2 1,00+, ,(%)
using this hence P.T.

8T (x) + 2J5(x) + 615(x) = 0
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(d)

Prove that SAS™! = dia. (2. 3, 1).

] using convolution theorem.

- 1
Find L | —/—
. [s‘fs+4

. . d e RPN
If f(z) is analytic in R, show that 'a—xlf(z)| + a—_lf(zﬂ =lf(Z)l

Evaluate Ix3 J4(x) dx.

. 1 -1 3 6

Find the rank of matrix Reducing to normal form where A= 1 3 -3 4

Solve : (D2 + 2D -+ 5) y = e~ ' sint with y(0) = 0, y{0) = 1.

Find bilinear transformation which map’s the points z= 1, - i, — 1 in to the poinl’s'
w =1, o, — i and find the image of [z | > 1.

Find L“[ g2 3}.
(s+3)(s+1)

Test for consistency and solve them if consistent—
Fx -2y +3t=2
2x +ty+zt+tt=-4
4x -3y +z+T=8 -

7~

0 2B vy
Determine o, B, yifA=|a B -—v|is orthogonal.
a —p v

If f(z) is analytic with constant modulus then prove that f(z) is constant.

Prove that—

2
J_gp(x) = J ;2; [% i _ZX cosx}
X

w2




